Math 304 Section 1 Quiz 10 7/27/16
Name:

0 0 1 1 20
Let A= | 0 0 2 |. The reduced row echelon formof Ais A/= 1|0 0 1
1 2 3 000
1. Write a basis for the column space of A.
2. Write a basis for the row space of A.
3. Write a basis for the null space of A.
Math 304 Section 1 Quiz 10 7/27/16
Name:
0 01 120
Let A= | 0 0 2 |. The reduced row echelon form of Ais A= 0 0 1
1 2 3 0 00

1. Write a basis for the column space of A.

2. Write a basis for the row space of A.

3. Write a basis for the null space of A.



